tions that follow each passage.

- ' to cnswer the ques
Directions (Questions 1-10) : Stuy the pass cé Hanélm ﬁhé’ qu

Passage-1 - 83 m) buildi

platform, peering down from the height ofa 22r if:;fl}; (over t)he :m;;‘g
deen valley. I could hear the jump Mmaste cinaf

gh a deep valley. I cou 2 new, 1 was in a free fall,

at a sliver of a stream meandering throu . ' thing 1 ' > 1
wind. "Do not look down. Here we go... One, two, three... ngp! ' The Sex:u my&screﬁm and just when it felt
hurtling down, heading straight towards the boulders. The wind drowned © 1l was broken. As T swung,

like a never-ending descent, there was a sharp pull at my body_harpess 'dln? :g | had taken my leap of faith,
suspended head down, I let the gurgling stream and the tranquil hills caln . - inutes earlier. This is
Back at the platform, loud cheers greeted me, even from those 1 had met F) d)helps you challenge yourself!
what an adventure trip does — strengthens old bonds, creates new ones an L ieture with an “lastic cord
Considered an extreme adventure sport, it requires you to free fall from 2 high s e he thrill of walking fo
attached to your ankles. There are just a handful of activities or sports t‘nfn can mau " nace jump only with a
the edge of a precipice and throwing yourself to the winds, l?ut it is essential that -yotain nd rﬁanagimz director
certified professional who meets all standard safety regu]atlons..Says ex-arqiy cap ing platform in India is
of Jumpin Heights in Rishikesh, ‘‘The biggest challenge of setting up a bqu_ee‘JumP o a free fall journey
the apprehension that people have about safety”’. Where bungee-jumping th r!lls you v o torra fimal AN
through space spelunking leads you to the mystical expanse within, and somi:hmps even u : i .

adventure sport that can double up” as a means of scientific and archaeo_loglcal research, Sp'? Ur}fm\g can
transport you to a world within a world, with prehistoric rock formations, hidden streams and waterfalls, and
more. Also known as caving, the sport is relatively new to India. Essential cquipment mcluch nylon_ ropes,
climbing harncss, ascenders and descenders, ladder, scaling pole and hard hat/helmet with a chinstrap.

Contrary to common perception, spelunking can be fairly low-risk, depending on the cave you choose. It is
always best to go caving in a group of threc or morc and not alone, and people with respiratory and/or

orthopacdic issues are advised to avoid the sport altogether. It is important to remember that there are various
forms of life in a cave — from spiders and bats to rarc plants and fish species — and you must be careful not to
hamper their natural habitat during your sojourn. One of the most popular adventure sports in the world, scuba
diving is all about discovering a ncw habitat and giving in to the spirit of wondecr. It is important to notc,
however, that scuba cerfification‘involves a lot of|classroom work and in-water practice before an actual dive.
A basic understanding of the equipment, diving safety, air and air pressure, and the/physics of the activity is
cssential. Once you exit the bubble of basic scuba training, a wdtld of diffcrent types of diving opens up to you
— your next tryst with the sport could see you diving from a dive boat, shore diving from a sandy beach or cven
an inland lake. There are fixed entry and exit methods for differcnt kinds of diving too — the giant stride entry,
controlled seated entry or backward roll entry for boat diving; surf exit and rocky surface exit for shore diving,

and so on.

| was standing on the edge of a bungee

1. Which one of the following is true of the narrator's (bungee jumper) 'leap of faith'?
(1) He had no fear as he went down. v
(2) His scream was subdued by the wind.
¢/3) Suspended head down, he could touch the gurgling water.
(4) His fall was towards the plain terrain.

2. Which of the following pair of words are nearest in meaning to 'short stay' and 'peacetul' respectively”’
(1) Sojourn, tryst (2) Expanse, tranquil (3) Terrafirma, calm U{) Sojourn tmnquil’

3. Bungec jumping is considercd an ‘extreme adventure sport” because

/U) it is very thrilling and exciting. ' (2) one needs to be a fitness freak.
(3) there is a lot of apprehension about safety. (4) it involves high degree of risk.
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4. Which one of the following is not true of 'spelunking'?
(1) The sport can sometimes lead one to underground terraing,
(2) 1t offers a tryst with rocks, streams and waterfalls.
(3) It has great écupc for scicntific and archcglogical research.
) Since it is a low-risk sport even people with respiratory issues can indulge in this sport.

Which of the following is not a basic requirement for scuba diving?
(1), Classroom work and in-water practice.

A2) Spirit of wonder to explore and discover new habitats.
(3) Diving cquipment with map.
(4) Physics of diving

Passage-11
A Strange culture of criticism pervades life these days, where everyone is a critic setting-sights on errors and
indiscretions, more than on achievements and triumphs. Time was when you waited for that one movie or
restaurant review from an established media reviewer. Today, thanks to social media, self-appointed critics
deluge you with opinions and ratings. Everyone has a view on where the PM TS going wrong and what his next
step Sl)ould be. A minister or godman just has to open his mouth before media pounces and makes it a matter
_ot national debate, involving wilting insults and shattering downers. With eycs trained on indiscretions, we
1gnore achievements and recognition. We have become a nation that loves having an opinion, preferably
negative; and likes nothing better than sharing it. And so, slowly the limelight has shifted from achievement
and proud moments to the side of us best kept under wraps. It is indeed a voyeuristic, sadistic generation that
takes pleasure in the downfall and public disgrace of others. In a Terrible about-turn of the phrase
no-news-is-good-news', today, we have come to a stage when 'good-news-is-no news'. Media leads the charge,
each TV channel watching out for 'Breaking News' moments —’lﬁ)ﬁfl'y’cg:;:roing or condemning a perceived
wrong move, a misdirected word or action, a wardrobe malfunction or the mouthing of a dirty word on the
cricket field. People invariably tweet negative stuff, easily adopting moral grandstands, because that is what
catches attention. Egged on by a trigger-happy audio-visual media, which shoots down and ridicules public
figures for the slightest gaffe, we are stepping into a well-established culture of the Tall Poppy Syndrome!
(A social phenomenon where those with more merit or success are disparaged and pulled down). It is all very
well for children to pull each other down under the keen pressure of performance, dismissing achievers as
'nerds' and 'losers". It jis'even understandable when professionals do so in a dog-eat-dog world, where pulling
down one may spell success for another. But when the habit of condémnation and fault-finding becomes a
national pastime, we need to sound the danger bells. Children today tune into news channels not for
information, but to guffaw at people pulling each other down. This is a veritable street fight delivered to you
through television; and viewers love it! The haranguing newsman, delivering cutting sarcasm and debilitating
criticism, has replaced the stereotypical fisherwoman. And we all love the vicarious moral grandstanding. The
more vitriolic the content, the higher the TRPs a programme delivers. Forgetting to praise the good work done,
bosses pounce on little mistakes. Spousts and friends don't ho!d back judgment; parents lay it on thick.
Experience tells us that positive strokes work far better than ridlqtlle, especially public ridicule. Today, we
have the power to make and break people through exposés and sting operations. But we also still retain the
power to motivate and galvanise the good amongst us. And in order to indu}ge one, we must not give up the
other! When we criticise, let us also stay attuned to the good in th'ose we deride. A senior colleague said to me
one day. "Whenever anyone comes to me with a complaint, 1 insist on first hearing something good about the
person they wish (o criticize. For, everyone must have some good in them too."

6. Why docs the author say 'a strange culture of criticism has pervaded...".
J/) Criticism is done through the social media which is a new channel of communication.
(2) The author is averse to criticism and hence calls it 'strange’.
(3) Ours has been a different culture in the world for centuries and centuries.
(4) Not long ago we used to appreciate many good things and achievements that happened around us;
now 1t is not so.
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10.

"overwhelm' and 'abusive',

S ~ . . S & as
r of words from the following which mean the same

Choose the pﬂl
(4) expose, invective

sctively. ‘ e
(rﬁp;eluge, criticise \)/)galvumse, condemn (3) deluge, vitriolic
The move from "o news is 20od news" to "good news is no news" is led by

! . .
(1) Tall poppy syndrome (2) The media
3) Diminishing number of achievements (4) Negative tweets
o ?
According to the author, why do we "need to sound the danger bells" now!

Criticising has created rivalry among the media channels hungry for TRP'S. -

(2) The habit of fault finding Or ignoring the achievements has become a national hobby.

(3) In future records will not be set or broken.

(4) Exposés and sting operations should stop.

Among the following which one is not the reason for people using the social media to criticize?
(1) Ttis powerful since it reaches many people very quickly.
(2) For the new generation is the most popular among the channels of communication.

\y)' It is based on technology and is changeless.
(4) Anyone can use it from anywhere.

Directions (Questions 11-15) : In eachof these questions, choose the option which best expresses the meaning

of the idiom /phrase underlined in the sentence.

I1.

12.

13.

14.

I5.

B/XX-XVII/IX

It was he who put a spoke in the wheel.
(1) helped in the execution of the plan V@T thwarted the plan

(3) tried to cause an accident (4) tried to cause pain

The new Chief Minister stuck his neck out today and promised 10 kg free wheat a month for all rural

families.
(1) caused embarrassment

\(3)/took arisk

(2) extended help
(4) took an oath

The old man was cut to the quick when his rich son refused to recognise him.

k(l/{hurt intensely (2) surprised (3) annoyed (4) irritated
Molan thanked Ramesh for helping him financially and not leaving him in the lurch.
) to leave one in difficulty (2) to be supportive
(4) to make fun of

(3) to compromise one’s position

All my houseplants are in sorry shape; it is clear that I do not have a green thumb.
(2) have a green tatto on the thumb

(1) have the ability to grow plants well
(3) have one’s nails painted green \Mlavc artistic mind



Directions (Questions 16-20) : /n each o these questions, chooge g, most logical order of sentences from

among the four given choices to construct d cohere

16.

17.

18.

19.

20.

nt paragraph.

A. Even a farmer can be a knowledge WOTka despite being illiterate if he understands the soil that he
sows in and the nutrients he adds to 1t. . _

B. If he has the benefit of weather forecast, he is using knowledge and he becomes a knowledge
worker. . :

C. I want to distinguish between being just literate and being knowledgeable.

D. FEssentially, the when and why of it. .
) ABDC (2) ACDB ] (3) CADB _(4) CDBA

A. Lymphoma can easily spread throughout the body, so patients whose disease appears to be confined
to one or a few lymph nodes may have collections of cancerous cells elsewhere in the body that are
not big enough to be detected by the tests used in staging the disease.

B. Treatment of lymphoma is tailored to each individual patient, depending on the type of lymphoma
present, how fast it grows, and how far it has spread.

C. In general, lymphomas that derive from ‘T cclls are more difficult to treat than ‘B’ cell lymphomas,
and patients aged over 60 are less likely to be cured than younger patients.

D. For this reason, the treatment of choice for lymphoma is usually chemotherapy — drugs given by
mouth or through the veins,to destroy the rapidly proliferating cancer cells throughout the body.

(1) CBDA (2Y' BCAD (33, BACD (4) CDAB

A. Official records show that the gross enrolment rate in higher education is only 11 per cent while the
National Knowledge Commission says that only seven per cent of the population between the age
group of 18-24 enters higher education. ‘

B. Experts acknowledge that the present higher education system in India is not equipped to address the
problem of shortage of skilled manpower and requires some changes in the basic structure.

C. Even those who have access are not ensured of quality.

D. The shortage of skilled manpower is a cause for concern in most sectors in India.

(1) CDBA (2) ADBC (3) BCAD DBAC

A. One of the main reasons for industrial sickness in our country has been the fact that business and
industrial managers have not been able to look beyond the immediate future. :

B. The planning horizon has hardly e¢ver exceeded five years.

C. A leading Indian industrialist in an article on ways to strengthen India’s economy has drawn
attention to the problems of inflation and industrial sickness among other things.

D. They have been too preoccupied with their attempts to report favourable results for the current year -
higher profits and larger dividends to the shareholders.

(1) ABCD \_{Z) CADB (3) ACBD (4) CDAB

A. A Standing Committee in the Department of Industrial Policy and Promotion (DIPP) will oversee
the implementation of this order and will further make recommendations to nodal ministries and

Procuring entities.
B. The new policy will boost domestic manufacturing and service provision, and enhance income and

employment.

C. The policy aims to maintain the balance between promoting ‘Make in India’ and ensuring timely
supply of good quality and value-for-money products to The procuring government entities.

D. The Union Cabinet chaired by the Prime Minister has given its approval for a national procurement

~ policy that gives preference to ‘Make in India’ in government procurements.
(1) BCAD (2) DABC \)}‘)’DCBA (4) ABDC
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Directions (Questions 21-25): Fill in the blanks.

. . . . : r -t
21, With more and morc uncommon policies, you can insure anything from your ___ 10 your

(4) house, car

B life, house (2) vehicle, house (3) pet, toe
22. The of the job made him do his work .
(1) boredom, surreptitiously 'Z) nature, ambiguously
(3) monotony, perfunctorily (4) place, indignantly

23.) The retired judge was too to be taken in by the spurious €XCuses presented by the

crook.
(1) perspicacious, petty \,(2) sagacious, ingenious
(3) astute, belligerent (4) obtuse, paltry
24. The spirit of sportsmanship is, in fact, the of all maladies that the world today.
remedy, bother (2) solution, trouble
(3) medicament, persecute (4) panacea, afflict
25. In today’s fyublic , scientists are highly respected but not nearly as influential as they should
be; their voices are mostly in the arena of public policy.
(1) sphere, absolute (2) times, peripheral
\ 96 domain, marginalised (4) democracy, superficial

Directions (Questions 26-30): /dentify the best way of writing the sentence ensuring that the message being
conveyed remains the same.

26. (1) Said to be on the verge of extinction, a great deal of attention is attracted by Olive Ridley turtle from

conservationists and the-media.
\@/ Said to be on the verge-of extinction, the conservationists and the media are giving a great deal of
attention to Olive Ridley turtle.
(3) Said to be on the verge of extinction, the Olive Ridley turtle is attracting the conservationists and the
media to a great deal of attention. |
) Said to be on the verge of extinction, the Olive Ridley turtle attracts a great deal of attention from
conservationists and the media.

27. (1) The recent change in the Quarterly’s book-review is short-sighted and self-defeating.
(2) The change of late in the Quarterly’s book-review is short-sighted and self-defeating.
(3) The recent change in the Quarterly’s book-review is short-sighted and also is self-deprecating.
\_yf)/ The change that has been made recently in the Quarterly’s book-review is short-sighted and
self-defeating. _

28. (1) Whoever leaves the room last is requested for locking the door after him.
(2) Whomever leaves the room last is requested to lock the door after him.
\/2)’ Whoever leaves the room last is requested to lock the door after him.
(4) Whomever leaves the room last is requested for locking the door after him.
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29. (1) His son carried off his business @it Fm =rr
\(})/ His son carried on his business after his demise.
(3) His son carried out his business after his demise.

(4) His son carried away his business after his demise.

30. -’\S)’)/He will not pay unless he is compelled to.
) He will not pay unless he will be compelled.
) He will not pay unless he is not compelled.
4) He will not pay till he is compelled to.

Directions (Questions 31-35) : Each of these questions consists of a sentence which is divided into four part:
numbered (1) to (4). Only one part in each sentence is not acceptable in standard written English. Identify the
pal'f \Vhi('h contains an error.

31. (1) He was able to (2) complete the book
NI%)) by planning carefully (4) and worked diligently.
32. (1) When the rudder (2) broke off from the boat,
\/(37 the sailor jumped in the bay (4) and swam to the shore.
33. (1) The current edition . (2) of the encyclopaedia,
(3) which [ saw yesterday, t/(A’ﬁaid that cloning is possible.
34. (1) The loss of three friends ‘ (2) and a job
were the price Patel had to pay (4) for hisill tempered outbursts.
35. (1) Inthe new school, (2) the teachers
(3) were more friendly u})/rmn my old school.

Directions (Questions 36-40): /n each of these questions, choose the alternative which is closest to
opposite in meaning of the underlined word in the sentence.
/ ’

36. Harold wasan excellent husband-tender, thoughtful, proud and affectionate; he was irreproachable.
\)/I') impeachable Wlmstable (3) inaccesible (4) inconsistent

37. Boozy, brawling and 'boli;’:ze/is excoriated by the right wing for his opposition to the Vietnam War.
(1) favoured ) reviled (3) revered (4) commended

38, The boy jumped up and down with alacrity as he inched closer to the candy store.
) apathy (2) courtesy (3) ardour (4) zeal

39 She had been ready with a flow of wrathful expostulation, but suddenly she burst into tears.
(1) kind (2) persuasive ' ,v(/ﬁ calm (4) naive

40. Yet this ungainly exterior sheltered a tender, romantic 4nd idealistic soul.
(1) unassuming (2) placid \ ) attractive (4) graceful
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41-48): In each of these questions, choose the alternative which can replace the

. ions Questions : ) -
D';ef;;::d “('ord without changing the meaning of the sentence.
undaer

he Puritan elders tried to ban levity of all sorts from the community meetings.

\ ) frivolity (3) illiterates (4) superstition

41. T
(1) youngsters

1 have my fingers in oo many pies, I am completely frazzled.

\/(/ﬁ exhausted (2) satiated (3) annoyed
ions.

43. Itis hard to locate the roots of peripatetic gypsies and their borrowed tradit
(1) colourful (2) static (3) resident \}A’fitinerant

42.
(4) satisfied

44. The audience had no problem understanding the presenter’s perspicuous speech.

(1) baneful (2) sagacious ) avaricious (4) lucid

45. He acquiesced to his son’s decision to go out without an umbrella despite the prediction of rain

(1) submitted (2) disagreed \LA) rejoiced (4) basked

Directions (Questions 46-50): In each of these questions, choose the option which can be substituted for the
given words/sentence.

46. An extremely confused or complicated situation

(1) Sodality &2) Oppugn (3) Imbroglio (4) Tiff
47. A formal resignation and renunciation of powers

(1) Fauna (2) Regalia (3) Axiom \M Abdication
48. A person who hates reason or discussion

(1) Misogynist \/(Z'ﬁ\/lisologist (3) Misanthropist (4) Bibliophile

49. A child who stays away from school without leave or explanation

\9}/ Truant (2) Cynic (3) Martinct (4) Acquicscent
50. To express vehement protest
(1) Invigorate (2) Fulminate \A) Exaltation (4) Languish
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51.

\\____.

The judges of Supreme Court hold office till they r\ejcwh{\he age of
(4) 60 years

(1) 58 years (2) 62 years 65 years

52.  Which one of the f ing ¢ i i ' j
eding 1e following committees was constituted in the year 1991 for reforms in tax structure in
A T:Iara§i1m1a1n Committee. (2) Chelliah Commjgtee.
(3) Gadgil Commiittee. (4) Kelkar Commitee.
53.  In India, the Tropic of Cancer does not pass through which of the following states)
(1) Rajasthan M Chhattisgarh (3) Mizoram ) Meghalaya
54.  The axis of the earth is stated to be inclined at an angle of 66%°. With respect to which of the following
does the axis of the earth form this angle?
(1) The Equator U})/ Tropic of Cancer (3) Plane of Ecliptic @ Arctic Circle
55.  The Indira Gandhi Canal originates from which one of the following?
(1) Pandoh Dam 2) Harike Barrage (3) Nangal Dam (4) Gobind Sagar Lake
56. The process of photosynthesis is most active in the regions of the spectrum.
(1) voilet and blue \/(27 green and red (3) red and blue (4) blue and green
57. Inside the human body, blood does not coagulate due to the presence of ;
(1) fibrin (2) haemoglobin Meparin (4) thromboplastin
58. In the case of a deadlock between the two houses of the Parliament of India, on a legislative measure the
joipt sitting is presided over by the '
) President.
(2). Vice-President.
) Spcaker of Lok Sabha.
(4) A member of Lok Sabha specifically elected for the purpose.
59.  Which is the largest landlocked country in the world? .
(1) Afghanistan (2) China (3) Kazakhstan m Mongolia
60.) Every year, International Cancer Day is observedon . _
(1) February 4 ) April 2 (3) January 16 LA February 23
61. The Supreme Court of India comprises the Chief Justice and not more than other Judges
appointed by the President of India.
(1) 28 (2) 29 , (330 (4) 31
67 Who has been e!ected as the 18" Prime Minister of Pakistan by the National Assembly after the
resignation of Nawaz Sharif? . .
(1) Shahbaz Sharif Shahid Khagan Abbasi
(3) Khurtam Dastgir Khan (4) None of these
B/XX-XVII/1X :



The senior Indian lawyer who argued for India in the hearing at the International Court of Justice on the

63. .
[bhushan Jadhav case 1S S
Warish Salve. (2) Parag Tripathi. (3) KTS Tulsi. (4) None of these

64 who passed away in May 2017, was the first woman to become Chief Justice of a High

in India.’ _
ﬁ;ﬁa Chandy \}Z(Leila Seth (3) Violet Hari Alva (4) None of these

65. Which of the following Mughal emperors defeated the Sultan of Delhi, Ibrahim Lodhi, in 1526 at

Panipat to capture Delhi and Agra?
\,(,(?*}gabur (2) Humayun (3) Akbar (4) Shah Jahan

66. The Principal seat of the High-€ourt of Madhya Pradesh is located in which one of the following cities?
(1) Gwalior Q@ﬁdore (3) Bilaspur Jabalpur

67. Who among the following has been appointed as the Chairman of the Ccnttal Board of Film
Certification (CBFC) in August 2017 by the Ministry of Information and Broadcasting, Government of

India?
\_}é’?’rasoon Joshi \,(Z{ Pahlaj Nihalani (3) Anupam Kher (4) None of these

68. The Indian National Congress adopted a resolution at its historic session in 1929 calling for

‘Purna Swaraj’ from the British. ,
\/é‘)w (3) Calcutta (4) Bombay

(1) Karachi Lahore
69. In which district of Karnataka is the historic place ‘Hampi’ located?
\9/;{ Bijapur (2) Bellary (3) Gulbarga (4) Raichur

70. Who was the President of the Constituent Assembly of India?
(1) Pt. Jawaharlal Nehru ) Dr. Rajendra Prasad
(3) Dr. Babasahcb Ambedkar (4) Dr. Sachchidananda Sinha

The most famous musician at the court of Mughal Emperor Akbar was Tansen. His original name was

71.
(1) Baz Bahadur. (2) Mukund Pandey. (3) Ram Chand. 4y Ramtanu Pandcy.

72.  The electrical equivalent of one horse powerisequalto ___ inthe International System of Unit (S1)?
(1) 716 watts \}2’)’ 746 watts (3) 756 watts (4) 776 watts

73.  Who among the following athletes has won the men's 100 metres sprint at the recently concluded IAAF
World Athletics Championships in London?
M) Usain Bolt ) Christian Coleman  (3) Yohan Blake (4) None of these

Where will India and the USA be co-hosting the Gld&l};ntrepreneurship Summit in November 2017?

74. ' ‘

(1) New Delhi ‘}2{ Hyderabad Gandhinagar (4) Chandigarh
75, The Reserve Bank of India has recently introduced ¥50 denomination banknotes in the Mahatma Gandhi

’ i
Series with motif of on the reverse. o ‘
(1) Qutub Minar &/Konark Sun Templﬁ\/(’{) Hampi with Cha_not (4) Charminar
0
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76. g group of friends met at a club 15 days ago and promised to Mmeet agai
(lfgt‘;r_d_f:jy, on which day will the friends meet again? agamn after 36 days. If today is
) riday 2) Saturday 3 .
vA(2) (3) Wednesday | (4) Thursday
- 77. Ina certain code, SAM is written as 917 and ENTHUSE is wri
: : ' 1s writt . :
b:guch of the following could be a possible code for the word ENT;{n asli(;34§92, tn this coding system,
2634895197 2) 2634891579 :
- @ (3) 2634985197 (4) 2634891597
78. Find tl i i . 7 :
i) 6516e sum of all two-dlixzt)nz?:els that give a remainder of 3 when they are divided by 7. 2 ¢ 3 48 9‘
JB) 676 C(4) 686 3 18
79. A mixtur@ worth ¥ 3.25 a kg is formed by mixing two types of rice, one costing ¥ 3.10 per kg and the 2
other X 3.60 per kg. In what proportion must they have been mixed? ;:
(1) 3:7 (2) 7:10 (3) 10:3 A 733 t‘s
80. TyplSt P can type a sheet in 6 minutes, typist Q in 7 minutes and typist R in 9 minutes. The average S
number of sheets typed per hour per typist if all three typists are typing, is . é
(1) 265/33 (2) 530/63 (3) 655/93 V(A’YNone of these )
81. Fil.ld the selling price of goods if two salesmen claim to make 25% profit each, one calculating it on cost
price and the other on the selling price; the difference in the profits earned being ¥ 100 and selling price |
being the same in both the cases. .
(1) T 1600 2. 2000 “ (3) 2400 @) T 2500 [
82. A shopkeeper sells rice in such a way that the selling price of 950 gm is the same as the cost price of one
kilogram. Find his gain percent. NA) - O q
(1) 100/17 % ~(2) 150/17 % 9,;??,, \_(3/100/19% ('9@660 4) 1/19% -3
A salesman is appointed ona basi¢'salary of ¥ 1200 per month and the condition that for sales of .-
T 10000 or above;he will get 50% of the basic salary and 10% of the sale values as a reward. This
incentive scheme does not operate for the first T 10000-of sales. What should be the value of sales if he
wants to earn < 7600 in a particular month? eF> c
(1) ¥ 40000 (2) T50000 (3) T60000° _z3 " u@ﬁ None of these . £y S
84. Rana makes a deposit of ¥ 50000 for a period of 2/ years in the ACB Bank. If the rate of interest is
{2 % per annum compounded half-yearly, find the maturity value of the money (approx.) deposited by ‘
him. , 3
(1) T 65550 (2) T66911 \/({? 66123 - (4) 67925 -
85. The students in three batches of BBA are in the ratio 2:3:5. If 20 students are increased in each batch, the
ratio changes to 4:5:7. The total number of students in the three batches taken together, before tho.:.6 ;
increase, 15 . \.(/3’/ I
(1) 10 (2) 90 100 (4) 150 5
86. In a certain city, there are four men for every three women and five children for every three men. H°w34
w many children are there in the city if it has 531 women? - . y
"5 22 (1) 389 59 (2) 454 (3) 1070 Huse
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87.

88.

{é 89 A train 100 m long is running at a speed of 70 km per hour. In how much time will it pass a man who is

3
P

-

90.

91.

92.

93.

94,

95.

Vm’ 6 sec (2) 12 sec (3) 9 sec

©
t © X
1\ \
N\
@t Yh
\b 4
If the price of a commodity be raised by 10%, find out by how much_ per cent must a householder redyce \(:Ss .

his consumption of that commodity, so as not to increase his expenditure. \ / \
1 1 I 2. s 30 25 ik
(1) 11—% 9—% (3) 7T—% 4 26-% ‘o ﬂ{ -
11 11 11 3 % y ‘ /“
: e %A

Find the compound interest on ¥ 50000 for 3 years if the rate of interest is 5% for the first year, 6% for

the second year and 10% for the third year.

L s (2) 16032 (3) T 10362 () 1062 9\ G

running at 10 km per hour in the same direction in which the train is going? o { o
4) 16s
@ 165 ST

Two partners invest T 87000 and T 72500 respectively, in a business and agree that 25% of the profit
should be divided equally between them and the remaining profit is to be treated as intercst on capital. If
one partner gets < 240 more than the other, find the total profit made in the business. b £70 xVig

(1) T3250 22 8\ 3520 7% nz5  (3) T3620 7A (4) T371207% | qu> 14§
il BB

| R T a4 N . . . B
If the letters 6 BZHXHQD UM B’ are placed in the order opposite to the one in which these *
normally appear in English Alphabet (i.e., in reverse order), then which of these would be the fifth letter
Lo 157 7
R

from right to left?
o
3)Q (4) B 73 3

(1) z Hg &
ZXUG pot D %‘g 2\

Soham says, "I have as'many sisters as brothers". Pooja says, "Each of us sisters has only half as many
sisters as brothers". Assuming that Soham and-Pooja are brother and sister, how many brothers and

sisters does the family have? .
(1) 4 brothers and 6 sisters (2) 6 brothers and 4 sisters

(3) 3 brothers and 4 sisters | 4 \},4') 4 brothers and 3 sisters & 2.4 9°

Which one of the following does not belong to the series?

Abz, Bey, Cdx, Dew, Eft
(1) Abz (2) Bey (3) Dew o4 Efr

A pizza delivery boy started walking southwards to reach his destination which is 6 kms away. From the
target, after delivering the pizza, he turns 180 degrees in the .clockwise direction and then turns 45
degrees in the anti-clockwise direction. Which directioryis he facing now from his destination?
(1) North (2) West () North-West (4) South-East

Neeta is teaching relations to her daughter. She says, **How is my mother's mother's daughter-in-iaw's
daughter related to me?” What will be the correct relationship? s | i

(1) Maternal Aunt (2) Mother’ 0’('3) Cousin ,/(43 Niece
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7% There are five villages A, B, C, D and E. Two of these haye ost off

{,1«“\ ~accessible by road. Two hav i f more than 50 post o

% . . € population 0 0

. teach and one has a population of less than 2000.

wY  Two of these villages have electricity in addition to certaj
road. Onc village with a population of less than 2000 al
accessible by road while each of the villages with a popul
Of the two villages having population between 2000 and

g road. A 1s accessible by road. B has a population of more th

o e TTETRIUED JO-T0 ). fead e pUTTETRIG PRAVTINANoONn 1o (lh,vwer"h N
ese questions.

Ces, three have schools and three are

0 cach, two haye Population between 2000 and 5000

N other facilitjeg suc

50 has a schog) by
ation of more than 50

5000 only one hag a

h as school and accessibility by
Neither has a post office nor is
00 has a school.

post office and is accessible by
an 5000, D has a school and is accessible by road

but does not have a post office, while E has a school but is not accessible by roaq

96. L,(\jvr?ich village does not have any of the facilities available to other villageg?
B (2) C 3) D

97.

98.

4 E
Which three villages are accessible by road?
(1) ACD (2) ABE (3) B,.D,E L(}{ ABD
Which village has a population of less than 20007
(1) B e (3) D 4) E

Directions (Questions 99-100): Read the following information to answer these questions.

A + B means A is the son of B; {\/\ + A

A — B means A is the wife of B; and \L
A * B means A is the sister of B. P
99.  Preetam + Mopjka — Aloke means . D
(1) Preetam is the grandson of Aloke (2) Preetam is the grandfather of Aloke A l/
(3) Aloke is the grandmother of Preetam &,}/Preetam is the son of Aloke 13—-% C
100. A +B - C + D would mean all of thefollowing except . : \ﬁ
(1) B is a female : (2) A is the granddaughter of D
D is the father-in-law of B (4) Cis father of A
101. In MS-Word, if you want to display the meaning of a word in your text at the bottom of the last page,
which feature will help you?
(1) Endnote \9)/ Footnote (3) Bottomnote (4) Footernote
102. What is the shortcut to add a new slide in MS-PowerPoint?
(/@’5 Ctrl+N (2) Ctrl+M (3) Cul+S (4) Cerl+L

103. What is the shortcut key to create a copyright symbol in MS-Word?

(1) Alt + Ctrl + C ) Alt+C @)’CtrHC (4) Ctrl + Shift + C

104. In MS-Excel, what is the keyboard shortcut (button or buttons to be pressed) for creating a chart from
H114 ool

B/XX-XVIi/1X 13

the selected cells?
(1) F3 ) F5 . &ﬁﬂ ' (4) F11
2
2. 25
. (Z 3



mode directly instead of opening it in POWerP
ou save the presentatxon file?

ppsx 4) Pptm

105. If we want to open @ PowerPoint file in slide show oint ang

then selecting slide show, in Which format should y

ppt (2) pptx

-Excel, if you want to show unique values of a particular column, which feature can help you?

(2) Remove Same
(4) It is not possible

106. InMS
- (1) Remove Duplicates

\37 Show Unique

_ What is the shortcut to increase the font size in MS-Word?”
\/(/rfCtrl+> (2) Ctrl ++ | 3) Ctrl+* (4) Ctrl+]

108. Which one of the following memory units is considered as the largest? ‘
\),1/) Peta Byte(PB) (2) Exa Byte(EB) (3) Zetta Byte(ZB) (4) Yotta Byte(YB)

109. monitors user activity on internet and transmits that information in the background to

someone else.
(1) Malware \,CZ’{ Adware (3) Spyware (4) Spam

110. Which tool in MS Excel is used to create headings that spread across multiple columns?
(1) Combine tool \/(2’5 Merge Cells tool . (3) Consolidate tool (4) Join Cellsv tool

111. In MS-Word, when you want to repeat the same formatting at different places in your document, you can

take the help of
) Character formatting. (2) Paragraph formattmg
(3) Styles. . (4) Tabs.
112. DNS is an acronym for J
(1) Domain Name Security \jZﬁ)omain Number System
(3) Document Name System : (4) Domain Name System

113. In MS-Word, which of the following does not fall L;i((i;Lparagraph formatting?
)

(1) Alignment " Indentation
(3) Line Spacing (4) Underline style
114. What does SUMIF function in MS-Excel do?
(1) Adds up cell values based on a condition (2) Adds all the numbers in a range of cells
(3) Returns a subtotal in a list or databasc \/(4”) All these

115. To assign a name to locate/reach a specific point in an MS Word document, the user should create 3

() Hyperlink (2) Bookmark (3) Comment (4) Macro

B/XX-XVii/IX 14
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116.

117.

118.

119.

- What combination of keys do you press to enter the curr

) ent date in a'cell jn MS-Excel?
(1) Crl + Shift + . (2) Ctrl + \A3) Ctrl + F19 (4) None of these

Which of the following is the communication protocol t
accesses web-based information?

(1) XML (2) DML \/(3«)’ HTTP ' (4) HTML

What is gutter margin?
(1) Margin that is added to the left margin when printing
(2) Margin that is added to right margin when printing

hat sets the standard used by every computer that

..é) Margin that is added to the binding side of page when printing

(4) Margin that is added to the outside of the page when printing

Which of the following statement is correct for charts in MS Excel?

'\9«)/ A chart can have a chart title, legends and axis titles.
W A chart can have a chart title and legends but no axis titles.

(3) A chart can have a legends and axis titles but not a chart title.
(4) A chart can have a chart title and axis titles but not.legends.

120. If you want to type a character which is not there in the keyboard; for example, the copyright symbol '©',
how will you bring such a character in your text?
(1) Purchase a keyboard with all symbols. (XZ{ Use Character Map
(3) Use Symbol Text (4) Use Text Map
121. In MS-Word, which of the following shortcut keys is used to check Spelling and Grammar?
(1) F1 @) F2 : \/(5}?7‘ (4) F9
122. What term describes explanatory text attached to a cell in MS-Excel? C
(1) Callout (2) Comment (3) Dialog \_/@6 Extension \ 2 5 c
12°3
123. Fircwall is a type of ; . -2(4/;,1
(1) virus - (2) worm \,/)security threat (4) None of these RS
76~
124, is distributed computing over a network, and involves a large number of computers<
connected via real-time communication network such as the Internet. 5 ® -
) Cloud Computing (2) Thin Client Computing
(3) Fat Client Computing (4) Dumb terminal Computing
125. A is a website like an.y other, but it is intended to offer personal 6pinions of people on
their hobbies, interests, commentaries, photo, etc.
(1) Protocol ¥ Blog, (3) Webpage (4) Journal
B/ XX-XVil/IX 1 2 ‘
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